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English

66. The following sentence has been divided
into parts. One of them may contain an
error. Select the part that contains the
error from the given options. If you
don’t find any error, mark ‘No error’ as
your answer.

Your advices were timely/and guided
me/to take the right decisions.

(A) to take the right decisions

(B) no error

(C) and guided me

(D) your advices were timely

67. In the following question, some part of
the sentence may have Find out part of
the sentence has an error and select the
appropriate option. If a sentence is free
from error, select ‘No Error’.

Thereby, necessitate a fresh (1)/test in the
basis of (2)/the original strength. (3)/No

error (4).
(A) 1 B) 2
©) 3 (D) 4

68. Select the most appropriate word to fill
in the blank.
This training programme for students
will help the understand the

different methods of communication.
(A) organizers  (B) participants
(C) critics (D) trainers

69. In the following questions, the sentence
given with blank to be filled in with
blank to be filled in with an appropriate
word. Select the correct alternative out
of the four and indicate it by selecting the
appropriate option:

Japan as well as Philippines ............ hit
by an earthquake.

(A) were (B) have

(C) was (D) are

In the following questions, out of the given
four alternatives, select the one which best
expresses the meaning of the given word.
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70. Tempest :
(A) Calm (B) Quiet
(C) Stillness (D) Storm
71. Tinsel :
(A) Plain (B) Simple
(C) Unflashy (D) Garnish

72. The following sentence has been split into
four segments. Identify the segment that
contains a grammatical error.

Public speaking/is one of/the most feared
form/of communication.

(A) the most feared form
(B) public speaking

(C) of communication
(D) is one of

73. Select the most appropriate option to
substitute the underlined segment in the
given sentence. If there is no need to
substitute it, select ‘No substitution’.

I would have told you if i receive the
medicines.

(A) would receive

(B) No substitution

(C) had received

(D) am receiving

Direction (Question No. 84 and 85)

In the following questions, out of the given
four alternatives, select the one which is
opposite in meaning of the given word.

74. Thwart :

(A) Assist (B) Linder

(C) Check (D) Confuse
75. Copious :

(A) Scarce (B) Abundant

(C) Ample (D) Plenty

76. Select the option that will improve
the underlined segment in the given
sentence. In case no improvement is
needed, select ‘No improvment.

Despitelivinginthe sameneighbourhood,
we only. did not greet each other.
(A) still
(B) No improvement
(C) even
(D) mainly
77. Select the most appropriate ANTONYM
of the given word.

SURREPTITIOUS
(A) open (B) lazy
(C) slow (D) secret

78. Select the most appropriate meaning of
the given idiom.
Method to one’s madness

(A) Always behaving like a mad person

(B) Seeming disorderly yet having a
structure

(C) Being very neat and particular
about details

(D) Not following rules and conventions

79. Improve the bracketed part of the
sentence.
An ever-changing policy landscape
is (hard) conducive for attracting
investment :
(A) harding
(B) hardly
(C) hard-on
(D) No improvement
80. Inthe following questions, out of the four
given alternatives, select the alternative
which is the best substitute of the phrase.
Literary theft :
(A) Absentecism (B) Plagiarism
(C) Academicism (D) Adventurism
81. Select the most appropriate meaning of
the given idiom
Not one’s cup of tea
(A) Beyond one’s comprehension
(B) Not absolutely true
(C) Not according to one’s interest
(D) Ofno concern for someone

In the following questions, a word has
been written in four different ways out of
which only one is correctly spelt. Select the
correctly spelt word.
82. (A) Haorizontal (B) Horizonetal
(C) Horizontal (D) Horisontal
83. (A) Inconvenience
(B) Inconwenience
(C) Inconveneince
(D) Inconvineince
84. Select the option which means the same
as the group of words given.
A person who helps others in need
(A) contributor
(C) patron

(B) samaritan
(D) donor

8S5. Select the option which means the same
as the group of words given :
One who eats human flesh
(A) cannibal (B) tribal
(C) ethnic (D) humane

Direction (Question No. 96 to 100)
In the following passage some of the words
have been left out. Read the passage carefully
and select the correct answer for the given
blank out of the four alternatives.



Woman should be given equal opportunity
in education like men and they should not
be ... from any development activities.
Woman cover almost half the population
of the country which means if woman are
uneducated half of the country is uneducated
which bring poor ......... condition. Through
the women education the social and economic
development will be ........... in India. To
spread the importance and improve the
level of women education all over the
country, countrywide national propaganda
and awareness pro-grammes are very ..........
. An educated woman can educate her ..........
family and thus whole country.

86. should not be ........... from.

(A) isolated (B) included

(C) incorporated (D) publicised
87. Bring poor ............ condition.

(A) socio-politico

(B) socio-economic

(C) politico-socio

(D) politico-communal

88. development will be ............... in India.
(A) bigger (B) faster
(C) slower (D) pace

89. programmes are very ................ .
(B) useless
(D) ordinary

(A) inessential
(C) necessary

90. educate her ........... family.
(A) part (B) some
(C) whole (D) incomplete
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Lazy — STerl, 8R—9R g |
Serect — TSI 8], & |
T faed (A) T8 B
‘Method to one’ madness (idiom)
Bl A & U1 | §, AER
IRIG H g1 Eargul T8 o
e 31 ¥ 1 o A (B) B
‘Hard’ & I TR Adverb ‘hardly’ &1
TRINT S 1

80. (B)

81. (C)

82. (C)
83. (A)

84. (B)

‘Literary theft’ &l T g-Tffad
I, I 3WH fov Sfud veR
‘plagiarism’ ¥ |

Not one’s cup of tea (idiom) &I
T T—pre A R BIE g9
HRAl &, aEd &, M= ol & Al
RATE AT © | 31 fahed (C) e ¥ |
‘Horizontal’— &fsT’ W& spelling ¥ |
‘Inconvenience’ LTSI HEl
spelling & |

QT 71T QI A person who helps
others in need & ol W& ¥
BIT—*Samaritan’.
Contributor — STRTETAT, FEHH
Patron — R&® Bl

Donor — <M, ST FHRT enfe
T A <1 8| 3 idew (B) 9&
Tl

85.(A) & QT Q@A ‘One who eats

86. (A)

87. (B)

88. (B)

89. (C)

90. (C)

human flesh & o0 & ¥rsg BF—
‘cannibal’ (R°E®H, AEAER) |
Isolated &7 WATT & & | Should not
be @ 19T 1l1rd form T YT BT |
Socio—Economic &I WATT Sfrd & |
sahT 37 § AmTTR—anfii® |
Comparative degree “faster’ &I AN
SEE]

necessary ' AeAD’ T BT FART IfId
gl

Whole—g81 #121fd whole family—(q¥
YRR BY) B FART TE B

aa

(A) | Total correct questions = |:| X 3= |:| marks
(B) | Total incorrect questions for session-II = |:| x 1= |:| marks
(C) | Total unsolved questions = |:| questions

(D) | Total marks (A-B) = [ ]/270 marks

<QR code &1 scan

HRP IUAT score TaTd

Result

(Total marks)

3R Latest Current

Very Poor Poor

(0-160)

(161-190)

(191-210)

Good
(211-230)

Fair

Excellent
(231-270)

Affairs @I e-book free
# v |

IR | 11
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